A

TNRIIFITLEEE, TRREFIFHITIISIZESE

TN. TREI £ &hiEIEL

SNERERE —

RENKPHERIFERITE, FEEER

BEETEE
SEETSE, JEYSL)
EE— RS RRSIE
EERB—ENAOSH

EHAUEER J

BER=EDELEL, BF2UENE

TN. TR 5 Z i # 5E

B ERRREEE
HEBETEEBSE, REEBBE5E

REERE AR
7. 4| (N)
AL FE 8 ZEEHE SHRE 71 (MPa)
Mg 58 FHR (mm*| 0.1 | 02 | 03 | 04 | 05 06 | 0.7
6 4 |E® ??ﬁu 56.5 57 | 113 | 17.0 | 226 | 283 | 339 | 396
RIBIl 31.4 | 31 63 | 94 | 126 | 157 | 188 | 22.0
10 - 88| 1571 | 157 | 314 | 47.1 | 62.8 | 786 | 943 | 110.0
HIEI| 1005 | 10.1 | 20.1 | 30.2 | 40.2 | 50.3 | 60.3 | 70.4
16 8 |m3 %?ﬁu 402.1 | 40.2 | 80.4 | 120.6 | 160.8 | 201.1 | 241.3 | 281.5
Bl 3016 | 30.2 | 60.3 | 90.5 | 120.6 | 150.8 | 181.0 | 211.1
20 10 lEm #PEI| 628.3 | 62.8 | 1256.7 | 188.5 | 251.3 | 314.2 | 377.0 | 439.8
RIBI| 4712 | 471 | 94.2 | 141.4 | 1885 | 235.6 | 282.7 | 329.8
25 12 lEs HPEI| 981.7 | 98.2 | 196.4 | 294.5 | 392.7 | 490.9 | 589.0 | 687.2
#I/8)| 755.6 | 75.6 | 161.1 | 226.7 | 302.2 | 377.8 | 4563.4 | 528.9
32 16 e P 1608.5 | 160.9 | 321.7 | 482.6 | 643.4 | 804.3 | 965.1 |1126.0
RIBI| 1206.4 | 120.6 | 241.3 | 361.9 | 482.6 | 603.2 | 723.8 | 844.5

170

ZERIEREL A E

TN: EHRGT
(=g a)

TR: SRl
(L)

SHEEZITERLE

TNZOIE: 10, 16, 20, 25, 325F[{E 0%
TRAIIF: 6. 10, 16, 20, 25, 325[I{Ea5%E
BRI ONBIERITE, HERA

% 77 fi Bl 22 SR T
ABBREHY, HESEOEREL, RESEZEEEST

RERERAGERN A

IN
2\
N

.

0w N o o b
7 7

©o
s

TEPEHsRIE, BERIRENFBNRE
ESRNEEEMRET, EEAEEOMNSRNMEERMRIL;
EREKX, BED, BEEKE. BE. IFBENES, RIIBRE
ElStEn sk 2=t

RIBEABEN, VEBREEREY, PHILAYENRILR;
RIVEANBRETB40 Ml DRTERE S TEE;
RRINEREEDRRE, —RITEATREAK;
AERRET, BREFURER, BHLLRBPEIKDRG;
RIAETEBEPERURESZAOST, MHERRIINEST
TER0IERESE0s;

RIF TREEANER, DEBRENFE, EFROBINHEERE
18, BTFERFFRSOBES, FA2ETHFHRIIEERIR

&




& BhoRUEL

AIl'TALC

TNE3I

o iR

=i

Emiit

1. BTERERE,;

 BEARRBLZEEERI, HEZEEE;

. BEE-EmRZmRnBETE, ERZ-CHRnaE;
. BER=EIBLZEL, BFSUENH;

. AENIRHERTRBRITE, HEBRER;
 ARIRERERE R, AT,

N

[o) N6 BN V]

b

AE(mm) 10 | 16 | 20 | 25 | 32
FERIT sl

TIENE TO5R(H840 p M IEBIER)

FERREHE 0.2~1.0MPa(29~145psi) | 0.15~1.0MPa(22~145psi)
REMIE ] 1.5MPa(215psi)

TIERE C -20~70

EFPREEE mm/s 30~500

SR TIE mm -5~0

TiRAZHE <100*},° >100*)°

BER B

FOEREE 1] +0.4° \ +0.3°

BEOK [F2] M5 % 0.8 PT1/8
R FDERERKIITEZWNORER, RIIBERIODEBNBE;
UE2) BESABPTHOERE; 2. TNRIIZHH, EXE0EEFFEP4138,

T #

A {E(mm) EZEETE(mm) mAfTiE
10 10 20 30 40 50 60 70 80 90 100 100

16 10 20 30 40 50 60 70 80 90 100 125 150 175 200 200
20 10 20 30 40 50 60 70 80 90 100 125 150 175 200 200
25 10 20 30 40 50 60 70 80 90 100 125 150 175 200 200
32 10 20 30 40 50 60 70 80 90 100 125 150 175 200 200

DEI 100mmEBERRFFRITIEUEMMEB—R, BLL—RRETENHMN, EMNERIRL
—RIRETRRBIONMNER T, WITRR3HIFRTERILZHEETERIVRERIL

MR, ENERTEEEE,

ATHE: 15
TN 20x50 S []
DMK Q1§ Qf7T# QAR [F1] GFRRE [F2]
TN: EHRilEER) 10 16 20 25 32 SERITERYIR S: Mla o8, PTH
CETT TNRIIZER G, [12] BBERMSFEF, WIBRIRRZ.
NEBEEREEZTHME
TN FFok E4 1 L F5R E4 W
. ®32|  S45CIETFIRMERE 12 PN BE%
©® @ ® @ @ @ 1| oEfE HY| SUSI04EMFISHERE | 13 foiEss TPU
it/ T UBIE K
@%% 4%%@\/ : 2 | PO R 6| mam | 00 5US303
C N s 5 3 api=E2] POM HY filapa
@ [ _ _ ~ 4 Rk maiq: i 15 HEOT NBR
@— 5 | EEMNA SASCIETEBHESE | 16 M AR
® 6 | RBER Al | e | 00 SUS303
@ % — - - = 7 B8 cpigsl ’ HE Foer
N B 7 8 | CHIOE B 18 #EOS NBR
f e j 9 NIEOD NBR 19 frEss TPU
10 SIES iBEE 20 ®BE BE%
1) 8 1D 42 2) 46 (8
©® W@ ¥ © 11 OIR NBR 21 %= [

171



& BhoRUEL

AIl'TALC

TNE5
S AB AR 4%
TN10 S 2 ]
e
2-M5x0.8
BEBOE
58+1712 17
12 4641772 . ~
5 7115 10:0.1+5 | B3L: 2-03.5 16
m ‘ TIE: ©6%6.5 ‘
~ = @ - é
ool 1] —~——aA—— O G o
H |2 # ? ™ <
© L = <
N o & [s2)
2-M3x05/| 8201 gL, 2055 o
521 TE: 06735
5%\f7% ) 10 [ 20 |30 | 40 | 50 [ 60 [ 70 | 80 | 90 [100
LB | 30/30[35]40 45 | 50|55 60|65 70
TN32
PA 14
e e
[ 5 &1
o
PT1/8-28
BEOL
108+{312
30 78+i712 40
14 1317 35:0.1+/712 ;@ébz-ﬁ}mB 38
RN | M E: ©9%13.5 .
ar 1 g @ o~
S m:aé = pEE
8 =i N Ok
vid l %
2-M8x1.25 |B=0.1/\s33,. 2-05.5 \2-M6x1
=m0 17.2 ME: 09755
T¥55\T 1020 /30[40/50(6070[80 90100 125 150|175 [200
LB |45 50|55|60|65|70|75 |80 85 90[102.5/115127.5/140
PA |35 40
REWUER

1. REEEENEE:

i

. TN16~25
| PA P8
| o [T ™
i 8} T
] ] - &)
' I A
3 52—M5><0.8
| BEOE
i A+1T12 c
| AB AC+{T12 =
} H_ DAl _[15800+7fF | , | CA
| 2818 ‘ o
| ON @ G5
‘ e ‘ ~
| o -8 - @] s
| o [ I S— © I H| <
! | O H | o @ [an]
' m . ' ' @] @
i v pys ‘ ] =
| (" -
i _ LBx0.1] \ 2_
; 2-K o, 2-M4x0.7
| &I@%% A [ABJAC) B [BA| C [CA|D[DA[G H J
3 16 68| 15|53 54|53 |21|20| 8 | 8.2 |24 6 |2 07.5%7 583,045
; 20 78|20 58|62 |61 25|24 10(10.2| 28| 8 |2 07557 583, 045
3 25 81|19 627372 30|29 12(10.2| 34| 10 | M2 ©7 657 5583, ©4.5
| H®E®JB| K |KB|PA[PB L Lc|MB| R
3 16 |20 M4x07%5|34 | 22 | 11 | M2 0sR4a5@i 045 |47 47 | 3
| 20 20 |M4x0.7%5 | 44 | 25 | 12 | W2 ©8%R4.558350:®4.5 | b5 | b5 | 3.5
| 25 |30 |M4x0.7%6 | 56 | 27 | 12 | M ®8R45ES: 045 | 66 | 66 | 6
L EEESE LB
| f7#@< [10]20]30]40]50/60/70[80[90(100] 125 | 150 [ 175 | 200
! 16 3035|4045 |50 55|60 65|70 75 |87.5| 100 112.5 125
| 20 | 35|35|40 45|50 55|60 65|70 75 | 87.5| 100 [112.5/ 125
: 25 |40 /40|45 50|55 60|65 70| 75| 80 | 92.5| 105 [117.5/ 130
2. BFFHBES,
i
[L—— & 6
N ‘?
20
32
15
10
<
et ®25
i
1S
S 20 S
= e
Q10 5|
0 20 40 60 80 100
72 (mm)

172




& BhoRUEL

AIl'TALC

TRZE5I

o iR

a=

Emiit

HITIISIZAE
ToOEEES, TEMBEES]), BRTEEEO;

.

3

BER=BIIEZEL, BFSUENH;

. BEE-EOREmENBETE, ERZ-CHRDAEH;
 ABREQN, HRSEHIYBZREIL, REPRHZER
KEEHD;

KREIMEIEmMEE. FROREFEFTEER;

. ARWMHERIYRFERILTRE, AEREE,;
 RRVIRERERLB R HE, FARREHITE,

o o~ W N -
pi

© 0
s

 RANREBHZRED, BHESNUDEE, SOMELS;

b

AE(mm) 6 | 10 | 16 | 20 | 25 | 32
BHERT, FEg]

TIENE TO5R(840 p M EBER)

FERREHE 0.2~1.0MPa(29~145psi) | 0.15~1.0MPa(22~145psi)
IRFBMEN 1.6MPa(215psi)

TIERE C -20~70

FRREEHE mm/s 30~500

SR TIE mm -5~0

TiRAZHE <100 *}° >100 *}°

BER FrEE

FOEEE (11 +02° | +0.15° +0.1°
BEOK [F2] M5 x 0.8 PT1/8
R FDERERKIITEZWNORER, RIIBERIODEBNBE;
(2] BEFREPTH. GF. NPTITHLRIE; 3. TRADIZMIE, EBSsEAs¥EP413E,
T #

A {E(mm) EZEETE(mm) mAfTiE
6 10 20 30 40 50 50

10 10 20 30 40 50 60 70 80 90 100 100
16 10 20 30 40 50 60 70 80 90 100 125 150 175 200 200
20 10 20 30 40 50 60 70 80 90 100 125 150 175 200 200
25 10 20 30 40 50 60 70 80 90 100 125 150 175 200 200
32 10 20 30 40 50 60 70 80 90 100 125 150 175 200 200

DEI100mmEBERNFFRITEUSMME—R, BLL—RRETENHmR, ENERIRL
—RRETRRILOMER Y. WITRRINFRITERILBHRETERIONRERLL

B, ENPRIEEMER.

ATHE 1
TR 20x50 S []
DOREREE QL1 O @HEARIE D11 GO F BRI (2]
Ty. PTH
TR: E@MRIIEHR) 6 10 16 20 25 32 SHRTRIFE S: MtEo G: GHF
T. NPTH
DR TRAIZ M. [12] SEERMEIER, HIBRIRRZ,
MBEBREEFTHME
TR ik BB H Kk & wH
1|7 AR maligii 10 BE | SUS304(06/10)/485F(ETE)
2 | REIEER BET 11| MEEEL [ege6
3 | ppER POM 12 ®= BEE
5 4 IR RESHE 13 | BHER TPU
40 5 IR18 CPhsf 14 | BEOT NBR
3 6 | == CPTR( ©20/25/32) 15 | [SEIEE | SUS304(06/10)/4B88E(ET)
3 ! SUS304(EF) 16 | LTI malii
7 CIEI0ER RS 17 | AR 7Sk
743 8 [IES B5E 18 | O NBR
5 9 | mm ER(032FTEET) | 19 | @S NBR

173



& BhoRUEL

AIl'TALC

TREJI
ShERIR AR
JB Jc
TR6~16
i
L
g —{—@———{%—A —-
o —K
Il
P
radl
2-N
4-1 4-Mb5Z:4.5
”’L LB LC ww/ g
~
| e f———c=@f4>/— -8
F8TEL5-0 PA 8
A+1T12
AB AC+(T12 C
®10~16 M |DA JB JC 2-R(B3L)| _ CA
=y i 5
| o} s}
- %ob 00 =32 |
REis ©
2 :
(@) T
2-N/ §
HLB\FFoE JC LC
782 A |ABACI B BA CCA D DA G —g-5¢ | 30~50 [60~80/90~100/125/150(175/200 U
6 58.5(13.5/45/37/35/16 /14| 4 | 8 |16 JC:m“?ﬁ*f - - -|-1-1-123
LC=13+1T7%%
10 72 |17 |55/46/44[17/15/6 |9 |20/ 30 | 40 50 60 - - | - - 1[365
16 79 | 19 |60/58/56/20/18/ 8 |9 [25] 25 | 35 45 55 | 65| 75 | 145|145 46.5
HL ISR J JB K L LBl M N NB PAPBl R |S
6 282 06.5723.585: 3.5/ 13 - M3 x 0.5%4.5 10 |M3 x 0.5 M3 x 0.55830, | 28|24.5/6.5/M3x0.5/4.5
10 B2 06.5423.5@50:03.5/ 20| M4 x0.72F | M3x0.5%%5 |20 M5 x0.8)M3x0.5%27.5/35| 30 | 8 |[M4x0.7/3.5
16 B2 08.0824.535: 04530 M5x0.82SF | M4 x0.7%5 |30 M6x 1.0l M4x0.7585, 45 38 | 8 IM5x0.8 5
TR20~32 — =
i
,,T,z,
o HBE-—C—Q—
= # @ 2K
orFr
©
2/
2-N/
JB LB 8-L 4-P
. A AT
JF j‘m _E <} o
AV
BRIGERES S S i
H H | 63 b
| — —J
BFETE|-5~0 PA PB_
A+{T1E
AB AC+{T12 C
M |DA JB JC CA
Py P
o1 :
O 2-J D
sl HEF—0——0— 1 asg 1+
L ©
d ;‘\( &
Pidid had
2-N 2-Re@3L)/
BB\ JC LB
782 A |ABAC B BA C CA D DA G JB 4 5530 5060~100125150175200 @ FPAPB
20 94 [24170/64/62|25/23/10/12/28/30| 30 | 40 60 |80]80/100/100/M5x0.8/46| 9
25 96 [24/72/80/78/30/28/12/12/35/30| 30 | 40 60 |80/80 (100100 PT1/8/43| 9
32  [112]30/82/98/96/38/36/16/14(44/30| 40 | 50 70 |90/90[110/110/PT1/8/53/10
HL SR J K L LC| M™ N NB| R S| T
20 E832: ©9.5%°5.5585: ®5.5) M6x1.0 |M4x0.7%£5.5|9.5|M8x1.25| M4x0.7%6 | 50 | M5x0.8|6.5|52
25 B2 0118658507 | M8x1.25 | M5x0.8%87 |13 |M8x1.25 M5x0.8%7.5/ 60 | M6x1.0| 9 |61
32 B2 0115658507 | M8x1.25 | M5x0.8%7 |20 |[M10x1.5| M5x0.8%8 | 75 | M6x1.0(11.5| 73




8 §h S| 5L AIl'TAL
TRZE5I
Y LMEH

1. REELEEHNEE:

3. BEMTIHEE: SN REERAEBE NRREZE,
€ 0.18
T oo b
M iy O- -
— 5 R TRE RIIGIIT i e
w ] % 002 EEBEDE, 25
T £o. A
sl _ 1.5 e EFCEFRERL.
I\\!\\H\\\\\\\\\“\\\\.\\\\ CANENIE 20 60 100150 200
N \ {372 (mm)
W RIEZE & OHo20 |
© N
B 0.5 ~o1eS ] 8 g
@10, I~ T~
R EuIEERE SRR
S 0 e R —
— 20406080100 150 200
312 (mm)

A 175



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

